Manuals+ — User Manuals Simplified.

Shuttle BPCWL02 Dual Gigabit Lan Rugged Embedded Box
PC User Guide

A

Home » Shuttle » Shuttle BPCWL02 Dual Gigabit Lan Rugged Embedded Box PC User Guide U

Contents

1 Shuttle BPCWLO02 Dual Gigabit Lan Rugged Embedded Box
PC

2 Product Overview

3 Begin Installation

4 Documents / Resources

Shuttle

5 Related Posts
Shuttle BPCWL02 Dual Gigabit Lan Rugged Embedded Box PC

Product Overview

Front Panel


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/shuttle
https://manuals.plus/shuttle/bpcwl02-dual-gigabit-lan-rugged-embedded-box-pc-manual.pdf

Optional 'O ports are available depending on the specs
of the actually shipping product.
ARBUO BEARMERE IRBEEERRN,
Optionale Anschliisse sind entsprechend der Spezifikation des
vorliegenden Produktes worhanden.
Des connexions optionnelles sont disponibles selon les
spécifications de ce produit
Hay puertos de E'S opcionales disponibles dependiendo
de las especificaciones del producto que se esté enviando.
AT OUOFE—FE, TRFNHENC& S TARE
MAFZELET,
JononHATEnsHEE NOPTEl BE0A3-BEE0N3 JOCTYTHE B 338MCHMMO
CTH OT CNEYMEMEELMA BEKTHHECKH NOCTASNRSMOND NPOOYKTa.

Optional /O Port Occupied Sections Specifications / Limitations

il 1/ 0 %0 RS M BE
Optionaler Anschluss Belegte Bereiche Spezifikation / Einschrankungen
Connexion opfionnelle Sections occupées Spécifications / Limitations
Puerto de E/S opcional Secciones ocupadas Especificaciones / Limitaciones
AFFaz o #—bk gH#Hg RBEUHER

[lononNHKTENBHLIA NOPT BBO3-BhIBOMAE 3aHATHIE CERLMN Crneywgueaimu [ OrpaHMueHna

Choose one from four optional display boards.
HDMI 1.4/ 20 1 ErEEEEEmE—.

Es stehen vier optionale Grafikports zur Verfigung.
Quatre ports vidéos optionnels sont disponibles.

Hay cuatro puertos graficos opcionales dizponibles.

DisplayPort 1.2 (DP) 1 I A7V oRBEIMTEERLET.

BrifepuTe 0OWH U3 YETHIPEX BWAOE

OONONHUTENBHOR NAHENKW QWCMNES.

Max. resolution: \ & B #F47 B \ Max. Aufldsung:
B

D-Sub (VGA) 1 Résolution max: \ Maxima resolucién:

7 BB\ MakcumancHoe paspeleHme:
1. HDMI 1.4: 4k/30H=z
2. HDMI 2.0: 4k/60Hz

DV (Single Link) 1 3. DisplayPort: 4k/60Hz

4. DVI-IiD-Sub: 1920x1080

Maximum: 2 x Guad USB 2.0 board
#%: 2 {f Quad USB MR

|—| |“| Max. zwei Quad-U5B-Boards
USB 2.0 1 Maximum : 2x cartes Quad USB 2.0
[— || [w— , N
Maximo: 2x Quad USB 2.0 board
B ABUSBHR— bk x 2
Makcumym: 2 mnate Quad USB 2.0

R5232 only soloR5232
W ARRS232 RS232 (s
com4 1 iy
Mur fiir R5232 Tonsko RS5232

uniquement en R5232

R5232 / R5422 | R5485

Power supply : Ring in/5\V
®iF ¥ ¥ - Ring in/5W

COM2, COM3 2 [@ m@)] |@) ] BV H?Ifsspan.r?u.ng {RI-Pin) _
Tension auxiliaire de 5V (RI-Pin)
5V de voltaje auxiliar (RI-Pin}
#Hiz MW - Ring in/ BV
InekTponATanne: Bxon Ring / 5V




—_

Back Panel

Headphones / Line-out jack

Microphone

LAN port (supports wake on LAN)(optional)
LAN port (supports wake on LAN)

USB 3.0 ports

HDMI port

COM port (RS232 only)

Power jack (DC-IN)

Power button

© © oo N o o M w DD~

Connector for WLAN Dipole antennas (optional)

Begin Installation

For safety reasons, please ensure that the power cord is disconnected before opening the case.

1. Unscrew the ten screws of the chassis cover and remove it.



v ¥ ¥
SIS S S S S S
H [ I (Y . . A
v ; (= S N T N
Y (CL I O+ i
P : P D
i @"; E.G GEE

Memory Module Installation

This motherboard does only support 1.2 V DDR4 SO-DIMM memory modules.

1. Locate the SO-DIMM slots on the motherboard.
2. Align the notch of the memory module with the one of the relevant memory slot.

3. Gently insert the module into the slot in a 45-degree angle.

=3

l*-------

rf 45-degree angle
A5ER
' 45-Grad-Winkel
H Angle de 45 degrés
! Angulo de 45 grados
! BE45°
‘; yron 45 rpafgycos



0.....0I

I
Y z
it
I e
Latch \ =1 Latch \ 1

4. Carefully push down the memory module until it snaps into the locking mechanism.

SO-DIMM slot
SO-DIMM &
SO-DIMM-Steckplatz
Slot SO-DIMM
Zacalo SO-DIMM
SO-DIMM A0O ¥ k
SO-DIMM cnot

_‘_r' Notch \ [M#& \ Nase
Encoche \ Muesca
¥ F \ BoleMka

Cutout \ O \ Kerbe
Détrompeur ' Corte
H+) & F \ Boipes

l'--."
Ld L

J X

ol
'
-

-y

o e o
‘EEEER’

5. Repeat the above steps to install an additional memory module, if required.

M.2 Device Installation

1. Locate the M.2 key slots on the motherboard, unfasten the screw first.

2. Install the M.2 device into the M.2 slot and secure with the screw.



= M.2 2280 M key slot
M.2 2280 M key &
M.2 2280 M Steckplatz
Emplacement M.2 2280 M
Ranura M.2 2280 M
M22280M +—2A0 ¥
Crnot M.2 2280 M xnioy

Slope angle

{E#1 8 E \ Neigungswinkel

Angle d'inclinaison \ Angulo de inclinacién
fE#14 \ Yron Haknona

3. Please replace and affix the chassis cover with ten screws.
Powering on the system

Follow the steps (1-3) below to connect the AC adapter to the power jack (DC-IN). .Press the power button (4) to
turn on the system.

« Press and hold the power button for 5 seconds to force shutdown.

!”
’J‘
/ VAR o,y }?
Power Button \ iR L& M
e Ein-/Aus-Button
Bouton d'alimentation

L=}
Botdn de encendido
BEA YT

KHonka nuTasuMa

« Do not use inferior extension cords as this may result in damage to your Box-PC. The Box-PC comes with its
own AC adapter.
« Do not use a different adapter to power the Box-PC and other electrical devices.

VESA mounting it to the wall (optional)

« The standard VESA openings show where an arm/wall mount kit which is available separately can be attached




Screws M4 x 6L * 4pcs
25 M4 x 6L * 4

Vier Schrauben M4 x 6L
Cluatre vis M4 x 6L
Cuatro tornillos M4 x 6L
F 3 M4 x 6L x 4B
Camopessl M4 x 6L * 4wt

:
\ it He
.

] i |

WL AR et (TR

il ||I|||.'.|.|_II|||.||'.|.|.|'.|.|I||||'.'.|||||||I'.'||||“||||| L
-l

The Box-PC can be wall-mounted using a VESA compatible 75 mm x 75 mm wall/arm bracket. The maximum
load capacity is 10 kg and mounting suitable in heights of < 2 m only. The metal thickness of the VESA mount

must be between 1.6 and 2.0 mm.

Installation of WLAN antennas (optional)

1. Take the two antennas out of the accessory box.

2. Screw the antennas on to the appropriate connectors on the back panel.

Ear mounting to the wall (optional)

« Follow the steps 1-2 to install the ear mount.

Connector for WLAN antennas
WLAN FiRE SR

Anschlisse fir die WLAN-Antennen
Connexions pour les antennes Wif

Conexiones para las antenas WLAN
RBELANT > T HHOR2 5
Pasvem gnA auTesH WLAN



-
dfl

1

1

o &
|
o

o
_G@J

Screws M3 x 6L * 4pcs
B MIcEL 4W

Wier Schrauben M3 x 6L
@ © Quatrs vis M3 x 6L
Cuatre tomillos M3 x 6L
FF M3 x6Lx 4
Camopeas M3 x 6L = 4w

Wall \ il \ Wand \ Mur
Muro |\ B\ cTesa

==
—
————
A

Screws M4 x 6L * 4pcs V"_d
Wi ML Bl 4H

Wier Schrauben M4 x 6L
Qluatre vis M4 x 6L
Cuairo tomnillos M4 x 6L
FI M4 x6Lx 48
Camopezsl M4 x 6L = 4wt

Using the Din Rail (optional)

Follow the steps 1-5 to affix the Box-PC on a DIN rail.



Sorows M3x 6L 2pos o v"
L SRR ]
Zweni Scivaubon M2 x BL
Do vis M2 x BL
DCwos tornillos M3 x BL
27 MIxEL o2 -
Casopean M3 x 6L " 2ur L

P R——

Safety Information

Incorrectly replacing the battery may damage this computer. Replace only with the same or equivalent as
recommended by Shuttle. Dispose of used batteries according to the manufacturer’s instructions. Should any
accessories be required, please contact Shuttle or your relevant supplier.

More information on this product can be found at: https://bit.ly/BPCWL02

Documents / Resources

Shuttle BPCWL02 Dual Gigabit Lan Rugged Embedded Box PC [pdf] User Guide
BPCWLO02 Dual Gigabit Lan Rugged Embedded Box PC, BPCWL02, Dual Gigabit Lan Rugged
Embedded Box PC, Gigabit Lan Rugged Embedded Box PC, Lan Rugged Embedded Box PC,
Rugged Embedded Box PC, Embedded Box PC, Box PC, PC

References

o (® Shuttle Global - BPCWL02


https://bit.ly/BPCWL02
https://manuals.plus/m/b556c73212c5d49af11d077e1427d38208ace8de3597d95e9a5b67af45099d0c
https://manuals.plus/m/b556c73212c5d49af11d077e1427d38208ace8de3597d95e9a5b67af45099d0c_optim.pdf
https://bit.ly/BPCWL02

Manuals+,


https://manuals.plus/

	Shuttle BPCWL02 Dual Gigabit Lan Rugged Embedded Box PC User Guide
	Shuttle BPCWL02 Dual Gigabit Lan Rugged Embedded Box PC
	Product Overview
	Begin Installation
	Documents / Resources
	References



